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1. There are 1,174 elementary schools in Virginia.
Whatis 1,174 rounded to the nearest hundred?

a. 1,000
b. 1,170
c. 1,180
d. 1,200

5. Which is closest to the length of an umbrella?

a. 1 centimeter
b. 10 centimeters
c. 1 meter

d. 10 meters
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2. Which statement is true?
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6. Which statement below relates to area?

a. the distance around a square

b. the amount of water needed to fill a pool

c. the amount of dirt needed to fill a flower pot

d. the number of tiles needed to cover a kitchen
floor

3. The sum of 3,105 and 3,899 is best described
as —.

a. a little more than 6,000
b. alittle more than 6,500
c. alittle more than 7,000
d. a little more than 7,500

7. Madison has these shirts and shorts to choose
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Which shows all the different ways she can
combine 1 shirt and 1 pair of shorts?
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4. Joanne bought 4 bags of candies. Each bag holds

exactly 65 candies. How many candies did
Joanne buy in all?

a. 69
b. 109
c. 240
d. 260

8. These blocks follow a pattern.
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If the pattern continues in the same way, how
many blocks will be used next?

a. 13

b. 14
c. 15
d. 16

9 & 10 (2 points) Short Answer / Extended Response

Katie has 5 blue marbles and 4 orange marbles. Elizabeth has twice as many marbles as Katie. How many
marbles does Elizabeth have? How many marbles do they have in all?

Elizabeth has 18 marbles.

Together, Katie and Elizabeth have 27

marbles.
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